# WELCOME



"Transform your ideas into reality with Real Help India Crowd funding!"

www.realhelpindia.online







Major of poor and middle class people not getting proper help, our mission is to give them proper help in all situations Our mission is to give them proper financial freedom.













# DIRECT BONUS

2100/ - Every Direct

Only 1st ,2nd and 3rd 300/-

You Can Refer Unlimited

Member, For Each Successful Referral

You Get ₹2100



# Level Income

LEVEL	TEAM	DONER	DONATE
1 <sup>ST</sup> LEVEL	3+1	900+2100	3000/-
2 <sup>ND</sup> LEVEL	16	200/-	3200/-
3 <sup>RD</sup> LEVEL	64	200/-	12800/-
4 <sup>TH</sup> LEVEL	256	200/-	51200/-
5 <sup>TH</sup> LEVEL	1024	200/-	204800/-
6 <sup>TH</sup> LEVEL	4096	200/-	819200/-
7 <sup>™</sup> LEVEL	16384	200/-	3276800/-
8 <sup>TH</sup> LEVEL	65536	200/-	13107200/-
9 <sup>TH</sup> LEVEL	262144	200/-	52428800/-
10 <sup>™</sup> LEVEL	1048576	200/-	209715200/-

TOTAL PROFIT 279622200/-

# Star Club Member

Level	Team
1	4
2	16

5000/- System Support Loan

Criteria - 4 members From 1st Level & 16 Members From 2nd level successfully Activation in our system.

Note- After Getting Of 5000/- System Support Loan Your ID will be Auto-Converted to Silver Club



### Silver Club Member

Level	Team
1	4 Star Member
2	16 Star Member

10000/- System Support Loan

( Previous Loan Will be deducted)

Criteria - 4 members From 1st Level & 16 Members From 2nd level successfully Activation in our system.

Note- After Getting Of 10000/- System Support Loan Your ID will be Auto-Converted to Gold Club



#### Gold Club Member

Level	Team
1	4 Silver Member
2	16 Silver Member

### 100000/- System Support Loan

( Previous Loan Will be deducted)

Criteria - 4 members From 1st Level & 16 Members From 2nd level successfully Activation in our system.

Note- After Getting Of 100000/- System Support Loan Your ID will be Auto-Converted to Platinum Club



#### **Platinum Club Member**

Level	Team
1	4 Gold Member
2	16 Gold Member

### 500000/- System Support Loan

( Previous Loan Will be deducted)

Criteria - 4 members From 1st Level & 16 Members From 2nd level successfully Activation in our system.

Note- After Getting Of 500000/- System Support Loan Your ID will be Auto-Converted to Crown Club

#### Crown club Member

Level	Team
1	4 <b>Crown</b> Member
2	16 <b>Crown</b> Member

1500000/- System Support Loan

( Previous Loan Will be deducted)

Criteria - 4 members From 1st Level & 16 Members From 2nd level successfully Activation in our system.

Note- After Getting Of 1500000/- System Support Loan Your ID will be Auto-Converted to Diamond Club

#### **Diamond Club Member**

Level	Team
1	4 <b>Crown</b> Member
2	16 <b>Crown</b> Member

1000000/- System Support Loan

(Previous Loan Will be deducted)

Criteria - 4 members From 1st Level & 16 Members From 2nd level successfully Activation in our system.

Note- After Getting Of 1,00,00,000/- From Support System Loan, Your Support System will be Closed. Last Loan Amount Treat as VRS.( Non Refundable)



# Conditions:-

- 1) Only 10 % Deduction As Admin Charge from Only Generation Income
- 2) Min Withdrawal 500/-
- 3) Deposits & Withdrawal through INR system

4) Registration Charge not Refundable after Created of Membership ID by our System

5)This system is created solely by one member to help other members.

Your registration charge has been accepted to help other members.





